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Note:— Answers may be written either in English or in Hmdz, but the same medium
should be used throughout the paper. '
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Question No. 1 is compulsory. Attempt any four
questions out of Q. Nos. 2 to 7.
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1. Answer any five parts: . S (3x5)
1. Explain economic cost and accounting cost '
ii.  Which of the following aspect of taxation involves normative economics?
a) the incidence of (i.e., who actually pays) the tax
b) the effect of the tax on incentives to work
¢) the ‘fairness’ of the tax
d) all of the above
iii.  Differentiate between Causation and Correlation. .
iv.  What are the features of a competitive market?
v.  Explain why two indifference curves can never intersect-ach other.
vi.  Give one example of monopoly and explain the reasons fm»monopbl_y power.
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~ Ram has decrded to always spend one-third of his i mcome on clothmg . (5)

(a)- What is his income elasticity of clothing demand ?
(b) What is his Price elasticity of clothing demand? L
If we observe that this year more apples are bought than last year at a hrgher pnc(e we

* may conclude. that the demand curve for apples i is upward slopmg Do you agree‘l’ Why or

“why? - L -‘ : (5);. -
“What would be the hkely 1mpact ofa drought on the incomes of farmers producmg (a)

- wheat (bjoranges? RO f(S)
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Consrder a consumer who consumes only two goods, X and Y. Illustrate the unpact of : a
fall in the price of good Y on the consumption of good X and good Y if good X is an
inferior good Can good Y also be an inferior good? Explain. =~ ‘ ()

Usmg the concepts of- elasticities of demand and supply, explain — who may bear the
hlgher burden of a luxury tax- the rich consumer or the workers who manufacture them?

, : (S)
Consider an open grassland whe/re prOperty nghts are not deﬁned so that everyone is
allowed to graze their cattle ag/ﬂUCh as they want. What outcome do you predict? What
are the ways to address suchx’“’blemS? )
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ii.

1.

ii.

iii.

-
An increase in income induces a consumer to buy more pizza but less Pepsi. Using
indifference curves, explain the shlft in consumer equilibrium of the consumer if the price

of Pepsi falls. . S0
A firm in a perfectly competitive market is earning only zero economic profits. Would
this firm exit the market? Explain why or why not? _ - (5)

What are the economic implications of the government ‘impbsing a price ceiling on

.. onions below the market clearing price? - (5)
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5. (i) What is a price discrimination? What will be the change in consumér surpius a'nd‘ the
producer surplus if a monopoly firm starts practicing perfect price discrimination? )

(i) How the long run average cost curve is related with (a) short run average cost curves, (b) ‘
Economies of scale and (c) Diseconomies of scale. » : (4)

(m)

(i) A monopoly firm has the following demand revenue and cost equations:

Demand: - - P = 3500-10Q¢

Total Revenue TR =3500 Q¢ ~ 10 Q4

Marginal Cost MC =200+ 10 Qq

Where Qq is the quantity in units apd P is the price of the product in rupees.

(a) Find the price and quantity that will maximize the monopoly ﬁrm’s profit.

(b) Find the price and quantity that will maximizé the sdcial_ welfare,

(c) Calculate deadwelght loss from monopoly ' - S B (6)
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i . P = 3500-10Qq

Tl A TR =3500 Qd - 10 Q4
@mgem 0 MC=200+10Qd
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i DISCUSS the - possxble effects of a reduction in tax rate on the (a ) tax revenue (b) :
N _deadwelght loss and (c) size of the market. | NOX
“ii.  Suppose you arein charge of a toll bridge that is essentially toll free. ‘The demand for '
H Vbndge crossmgs (Q) is given by P = 12-2Q. '
(a). Draw the demand curve for bridge crossings.
(b) What is the loss of Consumer. surplus if a toll of Rs.6 is charged‘7 ‘ (2+3)
i, Atax on fertlhzers used in’ productlon of wheat raises the price of femhzers How -
would the supply curve of wheat for a (a) single farmer (b) market be affected in the
short run" Assume that the market for wheat a perfectly competitive market., (5)
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i. The labour supply curve is always upward sloping. Explain why or why not? )

ii. Howis the rental price of land ‘determined? How would the purchase price of land change
w1th an mcrease in the rental price? Explain. 6)

iii. Show how a perfectly competltlve firm may continue to produce in the short run despxtef
suffermg losses ‘ (5) -
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